0 %

Staol mdoR &) k2 ALY
@D 0.363636--- = 0.36 @ 2.456456 -
® 0.053053053 -

.o=9.456
. =0.053 @ 1.2777---=1.27
(3 0.342342342 --- = 0.349



8

37
90

=
R
o
©
970
[a\E K=
T
o o
@ ©
370
[a\ B Kep
e
T
~ ]
(@) (an)
© @



% 0.7-0.71 o A4 Aute} g AL

@D 0.06 ® 0.06 3 0.07 @ —-001 G -01i



&4 a,b ol ote] x— {bx-2(x-3y)} =ax+by @ ™, a,b 9] 7=
7Yz} St g,

Da=-2,b=5 @ a=-1,b=6
®a=2b=6 @ a=-2,b=-6

® a=2 b=-6






6.

x=2,y=-3L ] 2x+5y-(3y-3x) E A

D =8 ® -4 3 1 @ 2



@ 11

23

81
B) 1.3252525. ..



o =
= X

(a, b= %, a % 0)0]7 xk BFHa%7} oL, T

® 0.63

b~ |00

s
30

@

@D 1.204



9. 0.7¢°°" & aE Folke] 3.1 o] HSITh o] wf a o 27

@D 1 @ 2 3 3 @ 4 ® 5









D 3x-2y @ x-y ® x-Ty

@ 2x -3y ® x+5y



® -2



14.

x=y-T7 YW, 4x-2y+5 5 x of it Ao

@ 2x @ 3x

@ 92x—4 B 2x =9



o], 1000x — x7} 7F H

@D 0.521 ® 0.521 3 591 @ 591 3 5591



16.

(x%)?

ol=3}t
1=

D 3

(—x)?

P (00)?2 =

W, a+b+c o 27

® 6 3 9



17. a=3"1 4O, 81 & ¢ o WS Ao & vt2 A vepd ALY

612 a3
2% oL

@

Wl

a4 615
® 5 9O



18. 27 x50 o] nAke] o] AR5 ), n o FHe?

D 3 ® 4 B 5 @ 6



19. o 5 4 6, 09 A% Fe?
@ (2x)% x 3xy? © (4xy)% x (_ﬁ)




[l [ et

)<+

1

b+~
a

=

1:2 0]

i b

a

20.

® 3

@ 2



